AEE-R&

FB27[E] Wl LHEfEFHEAS ERR224E7H 250 (H)
NI 151 N | - B AT
£ H 167 2f7 RYiA 4f7 5hF 6f7 ThE 8hL
100m |HFH EHKAK 0 1116 (LR &S 1130 |NE O E 1141 |BUAR BEE 1156 |BIR BE 1172 |BE% EEE 11.80
B (-1.3) ALK 1.3) |EEH (-1.3) |EFEE (-1.3) [HALK (-1.3) |EER (-1.3)
400m | ERE 49.89 |4 iR 50.59 [FrE#: Fult 50.97 |ARUALR BVE 5155 |BEE MEE 5239 |AM Ot 52.74 |7kJ 6K 53.70 |FJI fi—  54.66
— g ELEE s IIEBN ELEE s NIEN g N ELEE S g TN
1500m |PEH % 4.10.25 |H¥%E HR 4.10.86 | L5 B 4.15.44 )1 B 4.21.86 [ &% 4.23.39 /AR FEE 4.37.01 8K RHE 4.40.81
iy LARLR (LALR ALK (ALK ALK FH 22 [ ALK
5000m [JEPY RRFF 17.54.76
ek
4X100m |[LFK A 42.92 |EEE&E B 43.60 |EEE®E A 43.97 [ILALK B 45.62 [FARE 48.16
B Il HFAR B e E} Ok BERS
= TR HE WH L 4 INE G s %
BrEE ot I B 2H E AR CBERS N EUORER
& NRIN FEEF BRAR: B SRFT i FE
AP (W FEE 6m76 |4 EA 6mb0 [HIAT FEE  6m45 |EAT B} 6m28 |2A F 6m26 |¥E/Kk #EE  5m99 |fEE ME  5m94 |FHE A 5m94
5 TSN (+1.9) |IHFLKRAC  (+3.2) [1IFLK (+2.3) [IWHEK (+1.9) |EEEH (+3.5) |EEE& (+2.7) K (+1.5) [LAUR (+3.3)
APk (VG EA Im90 [F3A JEK  1m70 |/l fEOKER  1m65
T FLRAC BB R
ek [IWE KHr Am10 |[FEBE K 3m60
ELEE S g N
L |AEE Bt 14m42 (AR EEE 1m0l |ZHME FAAKES 10m97 |AfRHE ZRHE 10m39 [Ri0 A 10ml8 [ KHt  Sm68 |¥hJ] Ad  Sml0 |AJF Zih  8mo08
(7.26Kg) |IIALKR ELEE ) ELEE S g FN FLRAC g N ELEE ELEE
100m  |/h#k 3 15.10 (BRI B4 16.40
g (-0.8) |FEE (-0.8)
800m |[Ff A9°& 2.36.69 [{IHF Fnse  2.39.31 | LH T3 2.44.57 (BN THE 2.56.18 |H# DY 3.28.33
B 7 AC BB EEE & FIAR FIR &
i | 4X100m |EEEE A 50.46 |EEEE B 51.14 |ILBLK 52.41 |ARE 61.11
Frr B WH Fizz Py S ARF HRE
SOESEIIES HE =R B O<H BN TH
& R AL KL kA VN BRI &
. P OV HF ¥ =3 A TR I
EmmPk [BA D<A 1m0 [BRIR WES 1m35 (B & 1m25 |#KIL Sk 1m20 [NA #iZ&  1m20
g FIAR EEE & ELEE s ELEE 5
3 | EMEBE|HTORSE 4m74 |ER LR 4m49 [HF) 4m25 |'®¥H KEE 4ml6 |HE BH 4m00 |GHEE OV 3m94 [JEFF A 3m69 [AK EEE 3m65
ELEE S 0.0) |EEE= (+2.0) |EEER (+1.9) |EEEE (+3.2) |EE& (+0.3) |EEER (+0.6) |EEER 0.0) |FRE (+1.1)
ot [ER 5k 9m39 |[EiE oF7% 8m33
(4.0Kg) [ILALKR ELEE s




AEHF-BEE

FB27[a] Wl LHEfEFHEAS TRR224E7H 250 (H)
FAT VT AR A EEE S
& B 167 2f7 RYiA 4f7 5hF 6f7 ThE 8fr
1500m | VK 3= 4.34.36 | &4l FHit 4.57.38
- FH 2 7l
+ 5000m |A¥H FP]  16.50.39 (£ H FHET  19.55.31|H B HF  22.24.91
¥ 7 Bt 7 et e
i [BE EHHE 10m63
(7.26Kg) |H2EkE
m 100m |&7I ok 12.02 g E—  12.58
+ FZEAC (-0.3) |a=An% (-0.3)
¥
%
5
%
100m |fREF 2= 13.90 |InEE W& 15.20
- 7 e (-0.3) | KE~Y (-0.3)
1500m |8REF {5 5.16.03 |HiA =H3E  5.17.63 40 =W  5.46.47
+ R 7 e [Ezpas R 7 e
¥ 5000m |4 He R 20.58.65| K # 21.51.38|7% % 23.16.44
7 e, 7 el Hh g e 1
| gk [EiE 38 5m05 |INEE & 4mo3
. 7 T (+2.3) | KE2 (+1. 6)
5 BB |dE Im35 |J0EE EH 1m30
+ R 7 KEZ
faiufe  [E EE S 8mb0 |BRL 8m19
(5.0Kg) [KE~Y 7l




UN-C: a3

BE27[0] EFE FEt i ETFHEAS Frk224:7 A 250 (B)
B 7 VT AT AR B R R R RR
B 1fiz of 3L aft 5L 6fz TR 8fiz
100m |2 ZEAE 1235 |4 HER Rk 1258 |ROF EZ 12.81 [BREF —f% 12.87 | =k fibth 13.18 |HHH ®Z 1335 |mETE AU 13.61
KEZY (-2.6) [J\HEHF (-2.6) |J\@EH (-2.6) |EFEH (-2.6) | KEs (-2.6) |#iEH (-2.6) |EEEH (-2.6)
800m |Ji% ZRHE  2.15.42 & R 2.21.70 |#EE MR 2.24.24 |HEA &K 2.26.94 |[A)Il B 2.28.25 |Ffta FIZE 2.36.47 |RUII FE 2.59.38 |=)Il RES 3.01.02
KES KE KEY EEEH KEY Wi H ES L i
3000m |ThUJfEEA 10.25.36|FF & BEK  10.31.56|FAE B2 10.32.15|0H#E Ek  10.38.03|FAKS tHth  10.41.52|E#E FFE 10.57.95|f8% oA 11.00.26[RER AUk 11.27.56
Wi J\HH J\HH ELEE ELEEH KES i J\H
| 4X100m |J\HF 47.95 [MiEH A 48.08 |+ B 49.60 [HifEH C 53.64 | K[E/~ 54.48
AR/ N WEE TR FRIL SRR g SR e
= AR K& WH X HH B4R 2 H B T
UTHE ANy AN BB Wi i i YA F=NFE
5 A H FlE IR FOKER TYNEIRES LSl e Kk
EMEEE (AR KM Tm72 | B K—  5m66 [ARJII ¥R 5m26 |¥EME BIE 5m26 | =& At 5m23 B KA 5ml7 =M % 4m90 |NEE S—  4m75
+ i (+1.5) |EAEH (+1.1) |HiEH (+1.9) | KIEZ> (+1.3) | KREZ 0.0) |[KEZ (+0.4) | KREZ 0.0) [EEEH (+0.8)
Empk (L PR 1m65 |[(UH | 1m30 |mi)Il #h#  1m25
ERE EAEF ES L
Kol | BEE 2m80 |fNfE HE 2m60 [JHF sk 2m20
Wi+ Wi Wi+
N — g 2m20
J\HEH
o [HEF =i smd7 | WHE 8md7 |fREE AKFn 8m37 |l E& 8m26 |HA F&F  Tmh9 |[KE H—  Tm24 |BE f$4E 6ml6 |#EEF T 6m09
(5.0Kg) |EEEH EEEH ELEEH Wi H S L Bl S L il
100m [Htdy0 BiE 13.85 |&HM Rk 14.03 |2l ET 14.09 [k M0 14.45 [HE ERE 1453 |BEK B 1459 |NEE BET- 14.63
KES 1.7 |KEZ (-1.7) |TslrR -1.7) |[KEZY -1.7) | KEs (-1.7) |EEEH -1.7) |EEEH 1.7
800m ¥ T  2.30.47 |hE HWAx 2.35.61 [ KiE AY  2.37.69 [P EH  241.61 |FAE TwE  2.42.49 |[FKiL S 2.45.00 Tk BT 2.46.19 [PIE HT) 2.46.70
FAEp KE KEY J\HH J\HH Wi J\HH 7 AC
ol 4x100m |HiFH A 53.23 | KEZ A 53.49 |#ifE+ B 53.73 [K[EZ B 55.45 |EfEHF 56.27 [#iEH C 57.14 [J\H#+ B 59.17
KA BREB S WG ¥ ‘=) K M R SFH T TR AN
F Pk A JEA B R RE HH ORK ‘=) T AN == AH Fidr
i FER i B I ALE NI 1S g % e B AiTE M
7 N N iy o B h) WA Kig 7 s mER BN T FEH iz
AEMEEE [P HEEE 4m47 |FES ER0 4ml9 [PE HITHy 4mlo |FEEF O 4m04 =) KB 4m00 |[fAk fOAF 3m81 |HEIT AERk 3m79 |R2Ak ZEE 3m6S
R ELEEH (+0.8) | K[E~Y (+0.9) |F§7AC (+0.9) [J\HH (+1.9) |[KE~ (+0.4) | K[EY +0.7) [J\E*F (+0.2) [J\HEH (+1.3)
Empk [FR EH  1md40 | EFf 1m30 | W M 1m30 [IUH E£E  1m25 [kH #F&E 1m25
FAEp KE i J\HH ES L
FodLBe JIlA A 8mbs  |BEIE AME Tm99 ¥ AV Tm02 |[{RE RIE Tm02 |PNEE O 6m88 [/NBF EAE 6m77 |4 #EJh 6md3 [P FER 4mST
(2.75Kg) |Hiif+ it Wi EiE HiTE A ELEE M




AEE-R&

E27[r] Wtk Lt FHEAS FR224£7 H 250 (H)
7 VT AT & AR R EREER
£ H 167 2f7 RYiA 4f7 5hF 6f7 ThE 8fr
100m #3532 %K 13.21 |®2A &3} 15.05 | mERX 15.31 [KiE 4 15.42 |=# seXk 1559 |FEE #Ek  15.70 |k #& 15.83 |#KJR K 15.98
i 7 AC 0.0) |FTAC 0.0) |FTAC (-1.8) |FTAC (0.0) |AMRHFAC  (-1.8) |FTAC (-0.9) [F7AC (-1.8) | KEZZ7  (-0.9)
1000m [¥2H &3} 3.16.86 |24 WML 3.22.05 [$2H &3 3.23.17 [49dh @ 3.24.67 [W&M K 3.25.32 [P R 3.32.13 /AR $RE 3.32.55 |(IUFRM UK 3.32.90
. 7 AC KEIZ7 7 AC KEIZ7 KEIZ7 KEIZ7 KEIZ7 7 AC
T [ 4x100m [f7AC A 58.93 |M7TAC B 61.70 | KEZ A 63.53 |KEZ B 64.43 |FHRIEAC A 66.98 |[KEZY C 78.03 | KEZ D 69.65 |FIHRIAC C 71.63
= TN W &5 Y EEIR] Ji AR =9 sk RE FNE KA Al
7 HiA SRR g ik 2H R R FH B F - N aH THE KRR
21 E} UH &t A HA Ik A WL B FHRY PR W B NEFEAE
+ KiE i FHR Fe1 PN RPN =3 JEK INBR - HRR ER/ A 7
Y S e 3m48 |INEE HEAR  3m46 |BJE K 3mdb [PHEE Mk 3m42 [TPIA RKE 3m40 |TEHE BK 3m38 I A 3m35 |HAH WM. 3m25
KEIFT (+0.8) |FTAC (+0.1) | KEZzZ7  (+0.8) |FTAC (+0.3) |[F§TAC (+0.3) |HRHAC +0.1) |[KEZZ7  (0.1) |[KEZZZ7  (+0.1)
100m |&H > 14.23 (Bl # 14.50 PR 2332 1472 [IUF #EEE 15.19 |RMRe EBF] 1522 [RIR JIRE 1541 A Hiek 165.62 | EIE 16.10
ENE (+0.7) |[FTAC (+0.7) [F§TAC +0.7) | KEZZ7  (+0.7) |[KEZZ7  (+0.7) [FTAC (+0.9) |MTAC (+0.3) |FTAC (-2.1)
/I 800m [/MK B4 2.40.15 |HHI E4E 24358 [ 720w 2.50.18 |FBE A7edA 2.51.66 [PIH BB 2.52.11 |HGA FEE 3.00.00 |[ASR BB 3.04.27 [AH HRiAk 3.10.22
KE7Z77 KEZZ7 KE7Z77 7 AC 7 AC FARIRAC TY—REA ) 7 AC
% | 4X100m |[KEZF7A  59.31 |E7AC A 61.22 |F7ACB 63.26 | KEZ77B  63.78 [AMRHEACB 68.51 [F#ACY2=" 68.74
LR R LR B FEIAE B B I ELeA ¥l FEE
S BH R (3 AR Tptpdr J 720w &l EE g x
INBR B =y JRASAA YH K FAYE nE HF e an FH Rk
+ R A ] R AR PIHE BET HH e (EZ NI NEES HA A
EERE [N BE 4m32 |BH FWD 4m03 |IUF W 4m02 AR Aied 3m68 |[HEA 3m68 | FF  3m65 |WH UL 3m4a8 | 7o 3m40
7 AC (+2.0) |[KEZZ7  (+2.6) |[KEZZT  (+3.9) [ETAC (+2.1) [KEZZ7  (+1.6) [AMWHEAC  (+1.7) [FTAC 0.0) |KEZ7Z7  (+1.6)




